MATHS Number System TEST WORKSHEET NO- CLASS iV/V

Tick the correct answer
1. How many 6 digit numbers are there?
a) 6,000 b) 90,000 c) 9,00,000 d) 9,99,999
2. If you add one to the largest 6 digit number you get
a) 10,00,001 b) 9,99,999 c) 1,000,000 d) 100,000
3. 90 hundreds + 230 tens + 99 ones is equals to
a) 92,399 b)9,239 c¢) 10,339 d) 11,399
4, Which two numbers can make 700,000
a) 20,000 + 40,000 b) 300,000+ 400,000 c) 800,000 - 100,000 d) Both B and C
5. Which of the following has 7 zeros
a) 7 lakh b) 70 lakh c) 7 million d) Both B and C
6. The sum of 100,035 and the next odd number is
a) 200,071 b) 200,072 c) 210,062 d) 100,037
7.In the expression 163 + 435 = 598 addends are
a)435,598 b) 163,598 ¢)598,0 d)435, 163
8. The successor of any number is
a) one more than the number b) one less than the number c) Same number d) Zero
9. How many thousands are there in 288,456
a) 8 b) 88 ¢) 288 d) None of these
10. Sum of the largest 3 digit number and the smallest 4 digit number is
a) 1999 b) 9999 c) 9990 d) 1099
11. 7 + 40 + 500 is equals to

a)547 b)745 c)754 d)574
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If 1069 + 3480 + 2007 =______+__ + 3480

Then the two numbers are

a) 1069, 3480 b) 2007 , 3480 «c) 1069, 2001 d) 2007 , 1069

6666 +[ | = 10000 Number to be filledin[ ] is

a) 4444  b) 4044 ) 3999  d) 5000

How many tens are there in the sum of 445 + 555

a) 100 b) 450 c) 550 d) 1000

What number should be placed in |:| to make the number statement true ?

839 - [ ] = 8 morethan 720

a) 728 b) 111 c) 649 d) 218
There are 485 steps to the top of the temple . I could climb only 269 . How many more steps
I have to climb ?

a) 269 b) 216 c) 654 d) none of them
A man put 205 banana in a basket .108 banana were bad .How many banana were good ?
a) 313 b) 97 c) 108 d) none of these

7+74+7+7+7+7

a)7+6 b)7x6 ¢)7 =6 d)49

6x4 [ ] 8x 3 Which is the correct sign to be put inthe [ ]

a) < b) > c) = d) none of these
A spider has 8 legs .How many legs do 9 spiders have ?

a)9-8 b)9 + 8 c)9x8 d) 9= 8

If 74 bricks are used to make one wall then bricks are used to make 9 walls.
a) 666 b) 662 c) 640 d) 668

20 x 300 =
a) 6000 b) 60 c) 60000 d) 600

IFYY S¢Sy means 300 then S S¢ 057 S¢Sy stands for

a)6 b) 600 c) 60 d) none of these
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24, There are 27 boxes . Pack the boxes into groups of 3 . How many groups will be formed ?
a)7 b)o c)6 d)8
25.<> = 3 tens then <>+ <> + 21 =
a)41 b) 81 c) 21 d) 71
26.1f X + -+— =100 and + - X = 20. Then the values of X and+ are
a)-{> =60, X =4 b) + =70, X =30
)=~ =80, X= 20 d) <4==80, X =60

27. 1 @ + =200 and x/\ =200 then /\ stand for

a)l1  b)2 ¢33 d)100

28. Look at the picture given below and choose the correct expression for it .

L 1

a) 6+9=15 b)15-3 =12 c)3x5=15 d) 15+ 3 =18
29. You have to pack these pieces of cake equally into groups of three . How many groups
You will make ?

a) 5 b) 6 c)9 d) 8

30. Put these cherries equally into the baskets. How many cherries will each basket have ?
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